
Questions - Operators 
 
 
Question 1.  
 
What would be the output of the following statements 

a)​ print( 12 + 6 ) 
b)​ print( 12 - 6 ) 
c)​ print( 12 * 6 ) 
d)​ print( 12 / 6 ) 

 
 
Question 2.  
 
Calculate the answer to the following using python operators and print them as integers 
 
a) 
 
(5 x 7) + (2 x 4) + 5 
--------------------------- 
    ( 14 - 6 ) 
 
b) 
 
(10+20-40+60) * 0.5 
--------------------------- 
​ 2.5 
 
 
Another Data Types and Operators Worksheet (with solutions):  
 
Data Types and Operators 

 

 

https://docs.google.com/document/d/19ymRkXJ6bXDYBJHHWjFr5FJJLI6Lphs4TjGUitYYF8A/edit?usp=sharing


Answers 
 
Answer 1: 

a)​ 18 
b)​ 6 
c)​ 72 
d)​ 2.0 

 
Answer 2:​
 

a)​ print( int (((5 * 7) + (2 * 4) + 5 ) / (14 - 6)) ) 
6​
 

b)​ print( int (((10 + 20 - 40 + 60) * 0.5) / 2.5) ) 
​ 10 
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